21136 +F & , KM , BTVIERE T~

ﬂé‘ 7= miiEA

,@& ; N\ \-\i”'@ M
T @ BASHHARTBR , ZERELLE,
| 'ﬁ - THEMEAS @A, RITBLE,
e . THMBLIT , BILIBLL

s AURGHT S
¢ R R

- Mg -
> SHHREEBRNT 0.02 mm, BHMELIT , AIFAARE,

B

BELFEEBNSHMLTT TE RN LI, FABRNEENFMRE
i1,

BFUNBERBEF 0.1 mm MWERKEE  BFRIRN4HELH,
NERRBNERETUBEIREEZHHKAT  EEEATE, B
BRI TR E A LMEBIRETE EE 4 MUEB L,

BERERIEE , FRRITHNBEYATUEERESEMNS. AEA

EHRHAE.
HERT :
NEETRBENRZENE :
a) £ (BiA)
b)
c)
d) &
L
L
s L5
L o1
2 I"'—r—‘l"_' —1 ZHHHf 8 EE 159 @l Eﬁ
14 12 8 L4 hiai 82
81

+ 9

- == _-9

=0 =
v 9

© norelem www.norelem.com



21136 +=F& , &

M= B B1B2 D D1| D2 D3 D4 D5 H1 H2 H3 H4 |[H5 L L1 L2 L3 L4|L5 L7 L8[1T |F1 F2 F3 Mx|My Mz
J N N N Nm|/Nm Nm

21136-108 | A |46/36|21|26/23 M6x1| 8 [M4| 4 14]27(23| 14 6 |174,5[120[46) 75 |12 2| 6 |108|48|200/200(200|3,6 3,6|3,6
21136-112 | A |75/60|38|26|23 M6x1 |12|M6| 6 235 20129|27|15,5 7 | 235 |180|75/120|15 2|7,5(165|73|300/300{300| 18 18 | 18
21136-208 | B |46/36|21|26 23 M6x1| 8 M4| 4| 18 |14|27|23| 14 6 |174,5|120|46| 75 |12 2| 6 [108|48|200|200|200|3,6 3,6 |3,6
21136-212 | B |75/60|38|26/23 M6x1 |12|M6| 6 |23,5|20|29|27|15,5 7 | 235 |180(75/120(15 2|7,5/165|73 |300/300|300| 18 18| 18
21136-308 | C |46|36|21|26|23 M6x1 |8 (M4| 4 | 18 [14\27|23| 14 6 |174,5|120|46/120|12 2| 6 |108|48|200/200/200/ 3,6 3,6|3,6
21136-312 | C |75/60|38|26/23 M6x1 |12|M6| 6 |23,5|20|29|27|15,5 7 | 235 |180(75/180(15 2|7,5/165|73 |300/300|300| 18 18| 18

© norelem www.norelem.com



